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Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 2nd Week, 1st Day| Syllabus: Unit # 1, Ecological interdependence +

Predation + Competition.

Q.No.1 Encircle the correct answer from the following choices. (0.5%6=3)
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i. Consumers that hunt other organisms are called:

e llz{u_’ S KUsILbe 08, //g/

(a)[Decomposers J/J;,,fd 3|(b)|Producers Ity
(c)|Prey < £|(d)|Predators Iy
ii. The organism upon which animal feeds is called: :‘at’ﬂz{LUﬂlg&Jl}(gu
(a)[Predator ﬁ.é{ (b)[Prey <y
(¢)[Decomposer /J:{d 3|(d)[Producer ey
iii. How many types of competition? ?ugrl}ld;( d/ U"‘-'"‘*&"’/
|(@)|Two »|(b)|Three ¢ |(©)|Four J|@|Five &Y
iv. A large prey population supports: 298/?10%{&»&)({4.4
(a)|Decomposers Lﬁ//’/};{d 3|(b)|Less Predators &ﬁé{;bﬁ?
(c)|More Predators u’?ﬁ.éguy (d)|Producers d/)/gﬁ;{

v. Which of the following takes place when two or more individuals use the
same resource of environment?
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Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 2nd Week, 1st Day| Syllabus: Unit # 1, Ecological interdependence +

Predation + Competition.

(a)|Predation ﬁé{ (b)[Symbiosis u'/)l&g/
(¢)|Competition Swterd|(d)[Mutualism A
vi. A frog eats an insects. In it frog is a: ‘LJJ{U:J L‘Lt'UIpWJl’;:‘
(a)|Producer 4537|(b)|Prey —
(c)|Predator /”..é{ (d)|Decomposer /J;,,fu' 3

(ax2=4)-o =iz A
(i) Whatisthedifference between predatorandprey? ‘< g / l;’/u L;*/)Lé.(/} %2 4
SIS et
Q.No.3. Write long answer. (?;).gf.‘f’J h..«’ﬁd’-'ﬁ.

(i) How are the size of the predator and prey populations closely linked?

?sz{/‘}‘;‘f}ch/f%’gg S gy

Q.No.2. Write short answers.

(i) Define competition.
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(i) How are the size of the predator and prey populations closely linked?
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Q.No.2. Write short answers.

(ii) Define competition.



